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Ib(min) to saturate the collector current, ||
. Rb(max) when Vin=8V. Vee(sat) can be neglected,
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neat circuit diagram and wavefora, the 8 iLZé COJ
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1y a BExplain full wave rectifier. Show [hﬂti |

working of cenier-1ap . - !
:;'r;r,jcm? of full-wave rectifier is 81%. el o Sl

A Zener diode has a breakdown v_nlt:tgu of 10V. Itis 6 L3 COI
supplied from a voltage source varying between 20-40V

in series with a resistance of 82082, Using an idcal Zener |
model. obtain the minimum and maximum Zener
currents. _ o, g | | |

¢ Explain the ﬂmctinny block diagram of 78XX sr:rit:.s' 6 |L2|COl
VONage reguiator. 1 |

- ldFor a n-channel JEET if Toss = 9 mA V= - 6V. Calculatd 5 |L3|CO2
T at Vg = < 4V and Vos at Iy= 3 mA. 1

OR

4 a Explain how zener diode halps_ in .v_v.:::ll;g_c regulationl 8§ |L2/COl
- with neat circuit diagram

bA full wave rectifier uses 2 diodes having internal 6 |L3|COIl
resistance of 2062 each. The transformer rms secondary
voltage from center to each end is S0V. Find Im, Idc,
frms, and Vde if the load is 9806,
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¢ Explain the operation of half-wave rectifier with 6 [L2|cCo)
. capacitor filter with neat circuit diagram and waveform.
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db’m‘ a JFET fuu = 9 mA and Vesem= - 8V. Determinef 5 | L3 co2
drain curtent for Ve~ - 4Y and Vgg= - 6V
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